Week 13
Wednesday 17thJune 2020
Year 6- Problem solving
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Common Multiples

Common Multiples

Ta. Move from start to finish by following
the common muitiples of 4 and 8. You
cannot move diagonally.

Tb. Move from start o finish by following
the common multiples of § and 10. You|
cannot move diagonally.

START Key Facts

START Key Facts

8 |32|28

12|16 | 40

36 |18 ] 24

FINISH

5x2-10[10x1=10]
20|25 |12

50 (3018

a5 |10 | a0
FINISH

5x10=50{10x9 =50

hig

hig

2a. Kian says,

2b. 1sabel says.

The lowest common
multiple of 2 and & is 12
because 2x

multiple of 4 and 12 is
24because 4x =24

and12x2=-24

Is he comect? Explain why.

Is she comect? Explain why.

Key Facts
ax3=12 | 12x1-12
axa 12x2-24
axs 12x3

12x4

heig

& LAzt

3a. Below are 3 common mulfiples of 3
and 9. What numbers could be covered
by the splals?

3b. Below are 3 common mulfples of 3
and 6. What numbers could be covered
by the splals?

Lo

Key Facts

bx1=6

6x7-42
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Common Multiples

Common Multiples

4a. Move from start fo finish by following
the common muitiples of & and 8. You

4b. Move from startfo finish by following
the common mulliples of 3 and 9. You

‘cannot move diagenally.| «cannot move diagonally.
START START Key Facts
24 |10 | 156 2|0 e
2| w 0 |0 | e
o] a |9 55 | as |
36 | 108 | 128 15 | 99 | %
. FNSH N FNISH
S Chensare 5b. Alce savs.
The lowest common
The owest common . :
muliple of 9 and 1212 106 ouliple of 7and 8 s
because 9 x 12 = 108 ecauseTx
& and 83228
I+ he comect? Explcin why. 1sshe coecl? Explain why.
ey Fach Koy Facts
6 | 12x2-2 w | ax2
9x5_as | 1xs_s0 7xs23s | ex
9x10-90 | 12x10-120 7x10-70 | gx10-80
oo Loxizaies [rzecie | || 7ivates | exreces

4a. Below are 5 common mulfiples of 4
and 5. What numbers could be covered
by the splals?

100

60

40

6b. Below are 5 common mulfiples of 5
and 6. What numbers could be covered
by the splals?

Key Facts

ax2-8 | Sx2-10
4x5-20 | 5x5-28
4x10=40 | 5x10=50
4x12-48 | 5x12-60
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Common Multiples

7a. Move from start fo finish by following
the common mutliples of 3 and 12. You,
cannot move diagonally.

7b. Move from start fo finish by following
the common mulliples of 6 and 9. You
cannot move diagonally.

START START
14 100 | 140 | 80 | 56 198 [ 144 [ 108 | 132 | 120
180 [ 156 | 240 | 96 | 104 156 | a8 [126] 72 | 40
n2 | a0 |18 | a8 | 168 168 | 84 | 24 | 180 | 162

FINISH FiNIS

What numbers share the common
‘multiples in the ofher squares?

‘What numbers share the common
mulfiples in the ofher squares?

8a. Ben says.

8b. Kelly says,

‘ The lowest common
multiple of 8.5 and 17
17,

multiple of 5.5 and 11

The lowest common
is 55,

Luey says,

aa
Josh says,

The lowest common
multiple of 8.5 and 17
is85.

multiple of 5.5 and 11

The lowest common ‘
s

@

Who is comect? Explain why.

Who is comect? Explain why.

9a. Below are 5 common mulfiples of 9
and 18. What numbers could be covered
by the splats?

¢

54

90

b od

Find @ third number that shares fhese.
common mulfiples.

nz

9b. Below are 5 common mulples of 7
and 28. What numbers could be covered

by the splals?

112

84

e

a third number that shares these
common mulfiples.

140





